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=  Directional complements ( Il ) 0

Subject + Verb + Place word / Noun ( phrase ) + 3K

L]

Please buy some fruit ( and
Cats are coming downstairs. bring it ) here.

> I FEER. > BIRE—EKRK.
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=  Directional complements ( Il ) 0

Subject + VVerb + Place word / Noun ( phrase ) + &

L]

Cats are going upstairs. Take a plate of dumplings to him.

> /M BB A, > IREME—BRFE
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& Directional complements ( Il ) 8

Subject + Verb + 3 + Noun

He bought some fruit and
brought it here.

> SRR —LEK R, > fiER—E.

He brought a brunch of flowers.
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verb + f + numeral + Measure Word + noun+ [

(a) The sentence usually implies that the action has been continuing for some
time and is expected to last into the future.
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= verb + [ + numeral + Measure Word + noun + [ e

(a) The sentence usually implies that the action has been continuing for

some time and is expected to last into the future.
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verb + T + numeral + Measure Word + noun + |

3 days

Day 1 to Day 3

[The illness has continued for three days [She recovered from the illness on the fourth day.]
and she currently remains sick.]
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A /A
s verb + T + numeral + Measure Word + noun + T R

(b) If, however, a clause in this pattern is followed by another clause,
it may suggest that the action may come to an end.
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verb + T + numeral + Measure Word + noun + J -

(c) It can also be used to indicate quantity
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verb + T + numeral + Measure Word + noun + T o
R;.I. ﬁ% E — Pairwork 1
1. RERNETSENEAET ?

2. (REXHBEREETZKNET ?

AR e ATNINESPRING

281
3. REDFEERAS LTS KNAT ? L

4. RERAEENBFET SKRNET ?




E...H0 4
Difficult to learn

!Zﬂjl‘fEH:uEE ,E 'LI"%B \V

REBERLET —FT
TRE R FHREE.

easy to write

What follows % usually represents an extreme case:
the biggest or smallest, the best or worst, the most difficult or
easiest, etc.
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ZE is an intensifier which is always used in conjunction with &/1.
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Potential complements with Verb++~ T R

The V + 4~ | structure suggests that a location or container in question does
not have the capacity to hold something.

1B3E Ny

XPMRLFBAT=ZBNER. IHBLAHBELTITATN A




[EERes

Potential complements with Verb+4 |
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Potential complements with Verb+4 |
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Potential complements with Verb+4 |

AT AN Ao
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%l ( Example ) :

A RNERESTTAMAB?
B: BWEREFTF+MA
A: BMRNERFESTZLIILANA?
B: BNEREETFTHENA
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Potential complements with Verb+4~ |

V+BT/FATF
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Potential complements with Verb+ R~ T "o
V+BTF/FF
® K56 1L 8x/3v AR @ R T H 500%/2v BN




S/A  Question Pronouns with &/t

When a question pronoun is used in a statement with &/t appearing after it, it
simply means "all” or “none” in the sense of being all-inclusive or all-exclusive.
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% Indicating an Approximate Number -

1~2 rmb 20~30 Ll
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/& % Indicating an Approximate Number g

N ﬁ% E — Pairwork 3

1, IREEJLWIFENRS RIARSAT ?
2, XWMBEEHESDE ?
3, fEREEXRZAL YW TSIE&?
4, RINBEZSDONFE?

5, REEZDES ?

100~2002~

{9999 H#HH

HiiE=

500~600 rmb




3 A & 17 ,%& RolePlay

s AILAIFETZAA?

5% PN EE ?

BHEFTAL?
BHZD?2H/E?
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